INTERMEDIATE EXAMINATION — 2024 (ANNUAL)

Model Set

Time :- 3 Hours 15 minutes EICRICE) Full Marks - 100
9 ¢ 3 He 15 fAAe quiies — 100

Political Science (Elective)

Sub. Code - 322 Torifer fasm (ﬁﬁg’_‘ﬁ)

Total No. of questions — 100 + 30 + 8 =138
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ghenrfelalt & fore [A3or —

Instructions for the candidates :-

1.

wRiendl OMR ITR—UF® WR AU U YRABT HI HAIB (10 Al BI)
araey ford |

Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TRl H T IR G |

Candidates are required to give answers in their own words as far

as practicable.

SN IR BRRA R A g 3fd gurie ffdse &_d 2 |

Figures in the right hand margin indicate full marks.

gel ®I LIFYdd U & ford Wieial &1 15 e &1 afaRed a9
= T B |

15 minutes of extra time has been allotted for the candidates to
read the question paper carefully.

IE YU QI WUS] H T : GUs—3 Ud WUs—9 |
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This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 100 TS U €, OH @ fb=gl 50 YAl &1 IR oA
AR g1 50 ULl W 3AfH P TR I W UAH 50 BT B HATDHA
BT U & o 1 3 feiRa €1 a1 SR < & forg Sueter

PR MU SR T36 H QU T F21 fddwed & Al / $lel §fcd U9 9

TE N | [l Wl PR & gReR / oRd Ui / @fe / -gd 3Mfe

B OMR SR U= H YINRT HRAT AT B, 3IAT TNiel oy 31|
BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only the first 50 will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on the OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc on OMR Answer Sheet, otherwise the result will be

invalid.

Yue—q H 30 g SR U © | IS D fog 2 of FeiRa @, fores

3 fhel 15 YAl BT SN AT A B | g9 IfaRdd o0 @vs H 8
&Y I g QU MU 2| ud U @ oy 5 o FEiRa € fH A

=2l 4 ygal &1 SR <7 Ifard 2 |



In Section-B, there are 30 short answer type questions. Each
carries 2 marks, out of which any 15 questions are to be
answered. Apart from this there are 8 Long answer type questions
in this section. Each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl YR & Selaciivd IUHRYT BT TIRT QUITAT afoid & |

Use of any type of electronic appliance is strictly prohibited.

TYus—3 / Section-A

axqf~ss 939 / Objective Type Questions

3 @I 1 ¥ 100 dP & UAd U & o aR fdwew fag 71y €, R 9 @18
Udh WAl 2| AU gRT g Y &l fdded @I OMR—ITR gRaeT R fafed & |
100 UZHT H A fdhal 50 Ul & 8 IR I B | (50x1=50)

Question No.- 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR Sheet. Out of 100

questions any 50 questions are to be answered. (50x1=50)

1. & Bl ATl el JdNerd 8 ?
(A) STTHIETG (B) ®roHrg,
(C) 71 faeef (D) prerar
Where is the headquarter of SAARC situated ?
(A) Islamabad (B) Kathmandu

(C) New Delhi (D) Colambo



YRI—UTHEI BT g ba gl 7
(A) 1977 (B) 1972
(C) 1962 (D) 1971

In which year did Indo-Pak war take place ?

(A) 1977 (B) 1972

(C) 1962 (D) 1971

HYFT LY & AT FETHId DI B 2

(A) 9 BT 7 (B) STl AT

(C) Teifr evw (D) #far wRH
Who is the present Secretary General of UNO ?

(A) Banki-Moon (B) Jorge Sampaio
(C) Antonio Gutteres (D) Mario Soares

AR ICHE B [ 31T B 1994 H Feifad & faar ar ?

(A) Afrare (B) T

(C) e uRwg (D) g BRI

Which organ of United Nations Organisation was supended in 1994 ?
(A) Secretariat (B) General Assembly

(C) Security Council (D) Trusteeship Council

AfdE™ F9T & I ofege bl o ?

(A) §ER UCd (B) Sfo o= TR

(C) STa1ER el g% (D) Sio 9. IR, HTHR



Who was the permanent chairman of the Constituent Assembly ?

(A) Sardar Patel (B) Dr. Rajendra Prasad
(C) Jawahar Lal Nehru (D) Dr. B. R. Ambedkar
fepsr RTTiIfces Te1 = WAL |91 &1 d3dl BT PR fdhar ?
(A) GR=T o (B) BRIfRE Tof

(C) fowg, wera (D) HRe T B

Which political party boycotted the meeting of Constituent Assembly ?
(A) Muslim League (B) Communist Party

(C) Hindu Mahasabha (D) Indian National Congress

s HOeE & gRT WRA Gi9ae & TRATa=1 | 9 FRuer 3req SireT 1a1?
(A) 85 df (B) 44 dtf

(C) 42 dt (D) 15 dt

By which amendment, the word Secular was added in the Preamble to
the Indian Constitution ?

(A) 85" (B) 44"

(C) 42™ (D) 15"

e T exe | fduE w91 @7 fhar a9 o ?

(A) 2 9 (B) 4 a9
(C)3 @y (D)2 a¥ 11 #1E 18 &
How much time the Constituent Assembly took to frame the

Constitution ?



10.

11.

12.

(A) 2 years (B) 4 years
(C) 3 years (D) 2 years 11 months and 18 days
fhae ®el "IRAI AL ol & W@l g ?

(A) TI0 ISR I (B) &. ¥l f=

(C) o 9. IR, r=Igax (D) HETHT e

Who said, “Indian Constitution is lawyer’'s paradise ?

(A) Prof. lver Jenning (B) K. C. Wheare

(C) B. R. Ambedkar (D) Mahatma Gandhi
R e &e o] gair ?

(A) 14 3T 1947 (B) 26 SI=aRT 1950

(C) 2 BRa’T 1952 (D) 1 STTasT 1948

In which year the Constitution of India was implemented ?
(A) 14" August 1947 (B) 26™ January 1950
(C) 2™ February 1952 (D) 15" January 1948
i H IR A du # fean st § °

(A) 14 (B) 6
(C) 12 (D) 10
At present, how many schedules are there in the Indian Constitution ?
(A) 14 (B) 6

(C) 12 (D) 10

I AT PR TGP & f2dl DI &l ddr & 2



13.

14.

15.

(A) g9 BT B R (B) Wa=dl &1 AfTHR
(C) \HdT T SAfTHR (D) | 3R e

Which of the following rights protects the interests of minority ?

(A) Right to Religion (B) Right to Liberty

(C) Right to Equality (D) Cultural and Educational Rights
Afg & 69 SJzoe gRT 3RYLIT BT Il fbar 11 & ?

(A) T8 14 (B) sz 12

(C) rged 17 (D) 3T 18

Which article of the Constitution deals with the abolition of
untouchability ?

(A) Article 14 (B) Article 12

(C) Article 17 (D) Article 18

<Gfdae @ fow delled gRT 9wy & IfeR & Aifds AfHR | ger &

7 ?
(A) 44 df (B) 45 df
(C) 46 dI (D) 47 @t

By which amendement to the constitution, right to property was
removed from the list of fundamental rights ?

(A) 44" (B) 45"

(C) 46" (D) 47"

Hifeld ATHRI BT AN B & forg Re DI AR ST ?




16.

17.

18.

(A) Fatea T (B) wdg

(C) farer T (D) Irgufe

Who will issue writ to inforce fundamental rights ?

(A) Supreme Court (B) Parliament

(C) Election Commission (D) President

IR Fares smanT # fba- dew & 7

(A) 2 (B)3

(C) 4 (D)5

How many members are there in the Election Commission ?
(A) 2 (B)3

(C)4 (D) 5

FrafelRad 5 A &9 Mo &1 IRA G &1 WRerd a1 gs<) /1 SIrdn
g7

(A) RTsafa (B) Wdfed =ITTerd
(C) fated smam (D) s ¥ H1g T

Which of the following bodies is regarded as the protector of the Indian
Constitution ?
(A) President (B) Supreme Court

(C) Election Commission (D) None of these

fhd e8] D dod ISl H AU ATRAT ST ST bl & 2

(A) 352 (B) 356



19.

20.

21.

(C) 360 (D) 380

Under which article, the President rule can be imposed in a state ?

(A) 352 (B) 356
(C) 360 (D) 380

71 gRYg WFfed w9 A fws ufd STRer g8.r 2 ?

(A) regfer (B) Watea ~mater

(C) ArmaT (D) TSI

To whom the council of minister is collectively responsible ?
(A) President (B) Supreme Court

(C) Loksabha (D) Rajya Sabha

AT IMANT BT JuiF 9RATT Af9a™ & &y arfzos H 7 ?

(A) 312 (B) 324

(C) 325 (D) 368

Which article of the Indian Constitution deals with
Commission?

(A) 312 (B) 324

(C) 325 (D) 368

e I & faermrea § faus uRvg & € ?

(A) fder (B) SR 2T

(C) ®Hicd (D) IToRRITA

Which state legistature does not have legislative council ?

Election



22.

23.

24.

25.

(A) Bihar (B) Uttar Pradesh

(C) Karnataka (D) Rajasthan

GG DI YA 95D DI AT B HIAT T ?

(A) SIRTZUfT (B) ger=E=T

(C) Irgufa (D) ATHHHT BT 3T
Who presides over the joint setting of Parliament ?

(A) Vice President (B) Prime Minister

(C) President (D) Speaker of Lok Sabha

ST & FERA BT BrIdTel 9T Il § 2

(A)5 ¥ (B) 6 ¥

(C)7 =¥ (D) 8 @

What is the tenure of a member of Rajya Sabha ?
(A) 5 years (B) 6 years

(C) 7 years (D) 8 years

AIHa H Heed Ueell | fohd- 95w & dad § ?

(A) 20 (B) 22

(C) 45 (D) 18

How many members can be in Lok Sabha from Union Territories ?
(A) 20 (B) 22

(C) 45 (D) 18

Sed RITA & IREel & qargia amyg fea- g ?
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26.

27.

28.

(A) 60 ¥ (B) 62

(C) 64 ¥ (D) 65 @Y

What is the retirement age for the judge of High Court ?
(A) 60 years (B) 62 years

(C) 64 years (D) 65 years

IRA H e ATl &1 AT fhadl g ?
(A) 25 (B) 24
(C) 22 (D) 26
How many High Courts are there in India ?
(A) 25 (B) 24

(C) 22 (D) 26

AEE &1 58 gl § b= IR Iy & &9 wldd B faurer far
g7

(A) 4™ (B) 7"

(C) 9™ (D) 10"

Which schedule of the constitution deals with the division of powers
between centre and states ?

(A) 4" (B) 7"

(C) 9™ (D) 10"

AT RSl feas ®e /AR SIIar © 2

(A) 26 ST (B) 15 3FTET

11



29.

30.

31.

(C) 24 3 (D) 14 SR
Panchayati Raj day is celebrated on which date ?

(A) 26" January (B) 15™ August
(B) 24™ April (D) 14™ November
73dl Ud 74l AAUT G ®He AN gIAT ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

When did the 73™ and 74™ Constitutional amendments come into

force?
(A) 1985 (B) 2001
(C) 2003 (D) 1993

YR Afderd & b rfzee § GeNes ol Ufshdr & 9ui= & ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

Which article of the Indian Constitution prescribes the procedure of
amendment ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

Il & Y3 ATIRT DT fegel bi o ?
(A) BT (B) <. . da

(C) =mRfd wotet 3Tl (D) uf~Tapx

12



32.

33.

34.

Who was the chairman of States Reorganisation Commission ?
(A) Kunzru (B) J. B. Pant

(C) Justice Fazal Al (D) Pannikar

YIS AR WX T Ugel (b g DI o gg 2

(A) e wawT (B) SrvTTaet U

(C) SR ue¥ (D) 31T ueST

Which state was created on the linguistic basis first of all ?
(A) Madhya Pradesh (B) Arunachal Pradesh
(C) Uttar Pradesh (D) Andhra Pradesh
IR & UIH Y YIHAT DI o ?

(A) RER doot¥ WS Ucd (B) ARt =Ror {7

(C) ARRSH <A1 (D) T=ERER

Who was the first Deputy Prime Minister of India ?

(A) Sardar Vallabh bhai Patel (B) Chaudhary Charan Singh
(C) Morarji Desai (D) Chandra Shekher
oTelhe HAHSIICT be g3 AT ?

(A) 1966 (B) 1965

(C) 1967 (D) 1970

When was Tashkent Agreement signed ?

(A) 1966 (B) 1965

(C) 1967 (D) 1970

13



35.

36.

37.

38.

BRE & Jargd! § fHd ST SIrar o ?

(A) ARRSH <18 (B) TR

(C) BRI (D) ofTel 98TgR 2

Who was known as the leading Youngturk of the Congress ?
(A) Morarji Desai (B) Chandra Shekhar

(C) Kamraj (D) Lal Bahadur Shastri
WAA ARA H A FATg ysell 9R Hd Y ?

(A) 1947 (B) 1950

(C) 1952 (D) 1977

When was the first general election held in independent India ?

(A) 1947 (B) 1950

(C) 1952 (D) 1977

IR & UIH ST J41 diF o ?
(A) BUATT (B) . IR =TI
(C) Xrotv TS (D) WRER Uy

Who was the first law minister of India ?

(A) Kriplani (B) B. R. Ambedker
(C) Rajendra Prasad (D) Sardar Patel
IRA H DI A A a7 aod H AloE & °

(A) Toeela (B) feaei

(C) wggeir (D) 377 & PIg el

14



Which party system, at present prevaile In India ?
(A) One party (B) Bi-party
(C) Multi-Party (D) None of these
39. ST JARNT DI HIT BRI AT AN 7 ?
(A) faT s (B) fawra armain
(C) Ty & 3/ T (D) =ifeT AT
Which Commission has been formed after the dissolution of Planning
Commission ?
(A) Finance Commission (B) Development Commission

(C) State Finance Commission (D) NITI Ayog
40. I fawr aRvg & 3reuel i BT & P

(A) fas =0 (B) Irgzufey
(C) werrTH= (D) g&=u =raeier
Who is the chairman of National Development Council ?
(A) Finance Minister (B) President
(C) Prime Minister (D) Chief Justice
41. 1 9 9 (59 gg & URVMHERY b T Q97 BT S gaTl 2
(A) IRI— g (B) WRd—UTh gg
(C) oRATeT g (D) 374 & ®1g &l
Which of the following wars led to the birth of a new country ?

(A) Indo-China War (B) Indo-Pak War

15



42.

43.

44.

(C) Kargil War (D) None of these
UERiTel AT fbet &1 Qe & I gwierRa gaim o ?

(A) IR 3R I (B) MR 3R urfa™
(C) ¥R 3R w¥ (D) ¥R 3R 3R

Panchsheel Agreement was signed between which of the two

countries ?
(A) India and China (B) India and Pakistan
(C) India and Russia (D) India and USA

A 1972 H 9RA IR U= & 49 by |Hsild R gwer g7 7

(A) AR [T (B) Rryar Hwsitar

(C) faeet wwita (D) B FwEia

Which agreement was signed between India and Pakistan in 1972 ?
(A) Lahore Agreement (B) Shimla Agreement

(C) Delhi Agreement (D) Karachi Agreement
JfaearT garg uIRd 89 @ BRI b Te=aaT 4 IR fear o ?

(A) Uf$d STarer Tl 8% (B) d1. 4I. g

(C) T==IeR (D) @Ry =R Rig

Which Prime Minister had to resign due to passing of No Confidence
Motion ?

(A) Pt. Jawahar Lal Nehru (B) V. P. Singh

(C) Chandra Shekhar (D) Choudhary Charan Singh

16



45.

46.

47.

48.

HRART TR BT O UBell Afgell 31ege] oI off ?

(A) gfamr et (B) wiforef g,

(C) Tt d¥ie (D) s & BIg 7TE

Who was the first Women President of Indian National Congress ?
(A) Indira Gandhi (B) Sarojani Naidu

(C) Annie Besant (D) None of these

o O\

HIRA T XICUIT T gIRT AT SIIdl g7

(A) dH T (B) frafa® #sd

(C) xrogs (D) faerrerera

By whom the Indian President is elected ?

(A) Lok Sabha (B) Electoral College
(C) Rajya Sabha (D) Vidhan Sabha
b g9 AT urel BT dew H AT AT gIAT 2

(A) 1977 (B) 1975

(C) 1980 (D) 1978

In which year did Janta Party come to power at centre ?
(A) 1977 (B) 1975

(C) 1980 (D) 1978

IRA H FRul if~d &1 gvon feae @ ?

(A) fa=rar wrd (B) ST UabTeT RII0T

(C) guerr (D) ITSHRTIOT

17



49.

50.

51.

Who declared Total Revolution in India ?

(A) Vinoba Bhave (B) Jai Prakash Narayan

(C) Kriplani (D) Raj Narayan

1975 ¥ JAMUTTBIA BT ETYON B dTel IICUfT BT A1H /T & 2

(A) SR g (B) S ot ¥®

(C) BEHEI 3Tl 3TEHT (D) 379 | BIg T

What is the name of the President who declared emergency in 1975 ?
(A) Zakir Hussain (B) Gayani Zail Singh

(C) Fakhruddin Ali Ahmad (D) None of these

dIelclvs Wl gRYg g I # 7 ?

(A) 3rFH (B) RIS

(C) JrmvIr=ret uael (D) Herrera

Bodoland Autonomous Council is in which state ?

(A) Assam (B) Nagaland

(C) Arunachal Pradesh (D) Meghalaya

JarR Rd & AT 9841 4 9 DI A1 99 S T8 7 7

(A) U= ST (B) ATl

(C) i (D) #emera

Which state is not included in the ‘Seven Sisters’ of North East India ?
(A) West Bengal (B) Nagaland

(C) Mizoram (D) Meghalaya

18



52.

53.

54.

55.

UorH fUwe I SMART & 3Megel i of ?

(A) @1 1. g (B) PTehT AR Plcleldh

(C) 9. IR. IHTaR (D) 31 ¥ B 2l

Who was the chairman of the First Backward Class Commission ?
(A) V. P. Singh (B) Kaka Saheb Kaleekar

(C) B. R. Ambedkar (D) None of these

e TeTHE o1 AUSd JMRART &1 RIwRel & ar far ?

(A) Sfa=T i (B) Xroitg ey
(C) 3rca f9gr areut (D) &1. 4. Rz

Which Prime Minister implemented the recommendations of Mandal

Commission ?
(A) Indira Gandhi (B) Rajiv Gandhi

(C) Atal Bihari Bajpayee (D) V. P. Singh

DI AT A e el W 9T 9 el § 7

(A) 74 df (B) 75 df

(C) 72 df (D) 73 df

Which constitutional Ammendment is related to Urban
Government ?

(A) 74" (B) 75"

(C) 72™ (D) 73"

e gl <7 1991 H YR B R <T@l DI AT BT AR AT ?

19
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56.

57.

58.

(A) Toite et (B) a1, . T[oiRTel

(C) WI. Y. RRy¥=T 19 (D) 1. 41, Rz

Which Prime Minister Started “Look East Policy” in 1991 ?
(A) Rajiv Gandhi (B) I. K. Gujral

(C) P. V. Narshimha Rao (D) V. P. Singh

A BT MABR e ay oy faar am ?

(A) 2001 (B) 2006

(C) 2004 (D) 2005

In which year the Right to Information was implemented ?
(A) 2001 (B) 2006

(C) 2004 (D) 2005

gferd Yo e AR |6 $1 RITUAT YR & [ I H g8 ?

(A) IToTRRIE (B) STR U™

(C) AERTSY (D) 5T ge

In which state of India, the organisation of Dalit Panthers established ?

(A) Rajasthan (B) Uttar Pradesh

(C) Maharashtra (D) Madhya Pradesh

JoTddRTg Hedl Ffafad 3 3 ufdded # food g v=aadl o ARl &)

fRapTRer @ ?
(A) T =R (B) T—wra
(C) 3 =¥ (D) 37 & g &I

20



59.

60.

61.

The Balwant Rai Mehta Committee’s report has suggested the

Panchayati Raj Institution to be in how many tiers ?
(A) Single Tier (B) Two Tier

(C) Three Tier (D) None of these
U [C—"RUeT FHH & Aeqe Bid o ?

(A) gaori (B) STa@TeR el A8
(C) ARIet et (D) sreget TR

Who was the president of first Non-Aligned Conference ?
(A) Sukarno (B) Jawahar Lal Nehru
(C) Marshal Tito (D) Abdul Nasir

YRA o Ul A%l URHIY] TR0 e fhar ?

(A) 1974 (B) 1960

(C) 1998 (D) 2023

When did India conduct its first successful Nuclear Test ?
(A) 1974 (B) 1960

(C) 1998 (D) 2023

HepHE- YT del Red g ?

(A) IR T (B) 57 H¥R
(C) r&vmdaa Usel (D) 3r&H
Where is the Mac Mohan line situated ?

(A) Uttar Pradesh (B) Jammu Kashmir

21



(C) Arunachal Pradesh (D) Assam
62. iRy 3§ B9 A1 < AMH H G 78l © 7
(A) T (B) e
(C) wurer (D) RIFAR
Which of the following countries is not a member of SAARC ?
(A) India (B) Bhutan
(C) Nepal (D) Maynmar
63. WD DI YW TR b <1 H g3 o ?
(A) TTfh¥e (B) qivetTQe
(C) ard (D) =uret
In which country the first conference of SAARC was held ?
(A) Pakistan (B) Bangladesh

(C) India (D) Nepal

64. STRTSERI ST BT AT Bl & 7
(A) R (B) =g
(C) afeis (D) =
Where is the headquarter of International Court of Justice ?
(A) Geneva (B) Newyork
(C) Berlin (D) Hague
65. WIRAII AU &7 B9 AT 3e0s Alfeld bl 4 Hafdd g 2

(A)50 T (B)s1 ¥

22



66.

67.

68.

(C)52 1T (D)s3 U

Which article of the Indian constitution deals with the fundamental

duties ?
(A) 50 A (B) 51 A
(C) 52 A (D) 53 A

IR e # gt fha Hiferd e € 2

(A) 10 (B) 11

(C) 12 (D) 13

How many Fundamental Duties are there in the Indian Constitution ?
(A) 10 (B) 11

(C) 12 (D) 13

R Afderd & fbd a7 # ifd—derd dw o1 Seold © 7

(A) T (B) e

(C) =i (D) drerd

Which part of the Indian Constitution mentions Directive Principles of
state policy ?

(A) Second (B) Third

(C) Fourth (D) Fifth

19 d e H ARSI &I Gl fbal @Wa=ag afvid g ?

(A)5 (B) 6

(C)7 (D) 8

23



69.

70.

71.

How many freedoms are mentioned in the 19" Article of the
constitution ?
(A)5 (B) 6

(C)7 (D) 8

5T | RHAT @ Fgfad 19 FRar € ?

(A) JeIT=HAT (B) Ir~adTel

(C) xrgufa (D) Sz RIS & J& AT

Who appoints the Chief Minister in a state ?

(A) Prime Minister (B) Governor

(C) President (D) Chief Justice of High Court
rEUf T & fhad Al B A9 HRal & 7

(A)5 (B)7

(C) 11 (D) 12
How many members are nominated to the Rajya Sabha by the

President ?

(A)5 (B) 7
(C) 11 (D) 12

ST &1 IRBHR BT aR<AAD T DI BT 8 2

(A) IISTuTe (B) geaw=

(C) S=a =aramereT (D) 374 A PIg Bl
Who is the real Head of the government in a state ?

(A) Governor (B) Chief Minister

24



72.

73.

74.

(C) Chief Justice (D) None of these
fIgR fda™ aRvg # fids A=l @I IsguTd AT R Fhal & 7

(A) = (B)

e 0

(C)— (D)<

How many members of Bihar Vidhan Parishad can be nominated by
the Governor ?

(A) 3 (B)

(C) = (D)<

IRA H Al FgIUs YRl SRR Dl &HIGT Yo B Bl Uk by ure
27

(A) RTscaf (B) SwRrszufa

(C) verrT+=1 (D) wdl=a =raTerd & JR =rgere

Who has the power to pardon the death sentence of a prisoner in

India?
(A) President (B) Vice President
(C) Prime Minister (D) Chief Justice of Supreme Court

IR B GG 81 & oy IRNGIR & =LAH MY fbe=T § 2
(A) 21 (B) 25

(C) 30 (D) 35
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75.

76.

77.

What is the minimum age required by a candidate to become member
of Rajya Sabha ?
(A) 21 (B) 25

(C) 30 (D) 35

ATHAIT BT faeeT dIF HRar 8 ?

INECIREE] (B) Srgufa
(C) S=aaq <A™ &1 & <I1Een(D) $79 9 dig el

Who dissolves the Lok Sabha ?

(A) Prime Minister (B) President

(C) Chief Justice of Supreme Court(D) None of these

RO Qg™ & b arfess H Ul AR SR BR Fehall @ ?

(A) 3BT 122 (B) 3rg=sq 123

(C) 3rese 124 (D) 38T 125

Under which article of the Indian Constitution, the President can issue
Ordinances ?

(A) Article 122 (B) Article 123

(C) Article 124 (D) Article 125

AMHIIT & T fhaw auf & forv fHaifta g0 € ?
(A) 4 (B) 5
(C)e (D)7

For how many years the members of Lok Sabha are elected ?
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78.

79.

80.

(A) 4 (B) 5
(C)e (D)7
AHAT D YAH IfeyeT HiF o ?

(A) STIYHTE AR (B) St 4l AT
(C) aferr e (D) Rraxret wrfee
Who was the first Speaker of Lok Sabha ?

(A) Jai Prakash Narayan (B) G. V. Mavalankar

(C) Baliram Bhagat (D) Shivraj Patil

IRA & A AR™RT DI A AT 5 @1 T 7 ?

(A) e 3T (B) = <l

(C) wardl T (D) s & @I -7l

The Election Commission of India has been put in which list ?
(A) Union List (B) State List

(C) Concurrent List (D) None of these

YRR A9 & WRATaT # fhas UeR &1 =g &7 9ol g ?

(A) 2 (B) 3

(C)4 (D)5

How many types of Justice are mentioned in Preamble to the Indian
Constitution ?

(A) 2 (B) 3

(C)4 (D) 5
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81.

82.

83.

84.

IR & AT IR ARMHART o &7 SfTdR fhd g ?

(A) Falea It (B) TG AT
(C) wa= (D) *Nfey s
Who has the power to impeach the President of India ?

(A) Supreme Court (B) Election Commission

(C) Parliament (D) NITI Ayog

AT IICHE B AT He gg off ?

(A) 1940 (B) 1945

(C) 1960 (D) 1962

When was the United Nation Organisation established ?
(A) 1940 (B) 1945

(C) 1960 (D) 1962

Hgad gAY @ fda S € ?
(A)5 (B) 6

)7 (D) 8

How many organs are there in the United Nations Organisation ?

(A)5 (B) 6

(C)7 (D) 8

frforfrg & | @19 gRem 9Rvg &1 el e TE 7 7
(A) i (B) A=

(C) Srh (D) fae
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85.

86.

87.

Which of the following is not a permanent member of Security Council?
(A) France (B) China

(C) Germany (D) Britain

JReAT URYg & SRR el B T fhasil & ?

(A)8 (B) 10

(C) 12 (D) 14

What is the number of non permanent members in Security Council ?
(A)8 (B) 10

(C) 12 (D) 14

GG IICHE BT AT Hal o 2

(A) aRE (B) =g

(C) ofe (D) 3™
Where is the head quarter of UNO ?

(A) Paris (B) New York

(C) London (D) Rome

faeq wRey WIS B J&ATAT Hel © °

(A) =g (B) fomrar

(C) afes (D) IR

Where is the headquarter of World Health Organisation ?
(A) New York (B) Geneva

(C) Berlin (D) Paris
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88.

89.

90.

91.

e fAIRUEN NI BT Usell AT $e gl 2
(A) 1958 (B) 1960
(C) 1961 (D) 1962
When was the first NAM summit held ?

(A) 1958 (B) 1960

(C) 1961 (D) 1962

P wER ¥ YeRU ARG BT USAT RIS MRS gafl ?
(A) Ferirs (B) = faeetr

(C) Provig (D) gTenT

In which city the first summit of NAM held ?

(A) Belgrade (B) New Delhi

(C) Kathmandu (D) Dhaka

[EfRUET JATRTAT BT I~1Adl AT 2024 § fbd Q2 H B S <& &7
(A) grreme (B) ¥

(C) w4 (D) Zmst

In which country the 19" summit of NAM is going to be held in 2024 ?
(A) Bangladesh (B) Iran

(C) India (D) Uganda

AT (S&9) P o Ga < & ?

(A) 5 (B) 6

(C)7 (D) 8
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92.

93.

94.

How many member countries are there in SAARC ?
(A) 5 (B) 6

(C)7 (D) 8

oM (GeT) BT 3AfH AeT HIF B 7

CYRIEASI (B) =uret

(C) yer™ (D) ST
Who is the last member of SAARC ?

(A) Pakistan (B) Nepal

(C) Bhutan (D) Afganistan
AP (&) T 7o fd 99 gg off ?

(A) 1980 (B) 1985

(C) 1986 (D) 1988

In which year SAARC was established ?

(A) 1980 (B) 1985

(C) 1986 (D) 1988

fIER faum 91 # fhae 9ea © ?

(A) 240 (B) 243

(C) 245 (D) 250

How many members are there in the Bihar Legislative Assembly ?

(A) 240 (B) 243

(C) 245 (D) 250
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95.

96.

97.

98.

Afde &1 42a] FelE fHd 99 urq gay off ?

(A) 1975 (B) 1976

(C) 1977 (D) 1978

In which year was the 42™ constitutional amendment passed ?
(A) 1975 (B) 1976

(C) 1977 (D) 1978

YRR A BT DI AT FeNe So—dad [aRiE b | Hafed g ?
(A) 50 df (B) 52 df

(C) 53 df (D) 55 df

Which amendment of the Indian Constitution is related to anti-defection

law ?
(A) 50" (B) 52"
(C) 53" (D) 55"

IR |fagr & b srqeee & dgd o<l AMTdeiel S Sirr & 2
(A) 352 (B) 356
(C) 358 (D) 360

Under which article of the Indian constitution, financial emergency is

imposed ?
(A) 352 (B) 356
(C) 358 (D) 360

FrefeiRad # 9 $IF—41 3rgeos “Siad & AfTeR” F Fafdd g ?
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99.

100.

(A) BT 14 (B) a1 I=iE 15

(C) g 18 (D) =< 21

Which of the following article is concerned with the “Right to Life” ?
(A) Article 14 (B) Article 15

(C) Article 18 (D) Article 21

1975 B I JAMITARTA DI BTN & T IR b YTHHA] HIF oF ?
ARUSIERIE (B) 3rca Rl oty

(C) gfemr et (D) ARSI TS

Who was the Prime Minister of India during he proclamation of
emergency in 1975 ?

(A) Rajiv Gandhi (B) Atal Bihari Vajpayee

(C) Indira Gandhi (D) Morarji Desai

IRA H gl fha g 2 2

(A) 25 (B) 26
(C) 27 (D) 28
How many States are there in India ?
(A) 25 (B) 26

(C) 27 (D) 28
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¥uvs—9 / Section-B

oY S 9349 (Short Answer Type Questions)

U AT 1 W 30 oY SR Y 2| fBl 15 Ul & SR ° | gAP U b forg
2 3 MEiRd €| Iffread 40—60 el H IR < | (15x2=30)

Question no. 1 to 30 are short answer type. Answer any 15 questions. Each

question carries 2 marks. Answer in not more than 40-50 words. (15x2=30)

1. gRefl gRvg # fRwifer (drer) &1 @ sref 7 ? 2
What is the meaning by Veto Power in the Security Council ?

2. fav9 MUR 6T & T QI ILIT B ? 2
What are the two objectives of World Trade Organisation ?

3. TaqcIds & fdbol &l BRUT g | 2

State any two causes of Naxalism ?

4. AT RATT A MY RAT FH © 2 2
What do you mean by No-Confidence Motion ?

5. ¢ PRUS 3Acla @l &l SUAfRl aamy | 2
State any two achievements of Non Aligned Movement ?

6. D (S&N) b U H QT dD < | 2
Give two arguments in favour of SAARC.

7. VRAWE oI # &E Sl a @RI v fAdT § 2 2
What is the role of regional parties in Indian politics ?
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10.

11.

12.

13.

14.

15.

16.

17.

YR Afderd d fau 1 Wz & difeld fereR o a1 faevan ford | 2
Write any two features of fundamental right to liberty as prescribed in
the Indian Constitution.

YR AT AT & T DR BT quie DN | 2
Describe any two functions of Elections Commission of India.

I /41 Bl &1 fafre erfddal g | 2
State the two special powers of Rajya Sabha.

IRA H AFAEeR o Refd w) e wferd fewof ford | 2
Write a short note on the status of human rights in India.

YRA & JeTTHAl & bl & fddal o1 aoie & | 2
Describe any two powers of the Prime Minister of India ?

g AT B T I ford | 2

Write two objectives of United Nations Organisation.

YRd & AeH # AEIRT FEdrg & FHSI | 2
Explain Co-operative Federation in the context of India ?

IR HHER gl &1 & faeyan &1 g ? 2
What are the two features of Indian parliamentary system ?

IRA H el 1ot Awerail H AfRrs B el U UBIRT SId | 2

Throw light on the role of women in Panchayati Raj Institutions in India.

ot 3R 07— & T 3R © 7 2

What is difference between Monarchy and Republic ?

35



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

YR SR A9 & 1962 @ gg & [l &l YRV BT quiF SIS |
Describe any two consequences of Indo-China War of 1962.
g3are a1 B ?

What is regionalism ?

ST O BT IRATT Alba— H 37 A8 © ?

What is the importances of coalition politics in Indian democracy ?
YR Afderd &1 fb=gl a1 faeradmail &1 qui o |

Describe any two features of Indian Constitution.

GETIT IMGT & &1 I8 §dly |

State any two objectives of Panchayati Ra.

IRAT Afae™ & 73d HeNed &7 98 &1 & 7

What is the importance of 73" amendment of Indian Constitution ?
YR He el & &l SAeT0T qaly |

Describe any two characteristics of Indian federal system.

Adied <RI 6l AfAL= &7 GReTh Fi 9T odl & °

Why is Supreme Court regarded as the protector of Constitution ?

ANHaT & o wfda R gferg fewof forg |

Write a short note on the financial power of Lok Sabha.

TR Afde= § v 77 fH=8l <1 Hiford Had gdmv |

Decribe any two fundamental duties prescribed in the Indian

Constitution.
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28.  WRAY AU & UG & 3T A8 © 7 2
What is the importance of Preamble to the Indian Constitution ?

29.  YRAN LUy & diel Afdd R U fera fewof fored | 2
Wrtie a short note on the Veto Power of Indian President.

30. Hfa fSere Il @ g1 faeiyd 9 | 2

Describe any two features of the Directive Priciples of state policy.

4" Sa9F 939 (Long Answer Type Questions)

T AT 31 ¥ 38 WY ST YT 2| fhsl 4 U & SR S | UAd & folU 5
3 ufRa €1 120—140 It H SR T | (4x5=20)

Question no. 31 to 38 are long Answer type questions. Answer any 4
questions. Each question carries 5 marks.. Answer in 120-140 words.

(4x5=20)

31, YNd P YITHEAT & B UG Ifod DT Melia-TcHD AT B | 5

Critically analyse the powers and functions of Indian Prime Minister.
32.  WRA Afdu™ # Ay T Aifds Iferl &1 9o o | 5

Describe the fundamental rights mentioned in the Indian Constitution.

33. YN ® gdizd U b ATS Ud NSRRI bl fad==T & | 5

Discuss the composition and jurisdiction of Supreme Court of India.

34,  YNI—UTfbed Fdel IR e g forgd | 5

Write a short note on India-Pakistan relations.
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35.

36.

37.

38.

T Mg FE D ST R Ta e ford | 5
Write an essay on the role of United Nations Orgnisation.

HHBICA fdea # qe—Rue ela o ardfdhdr &1 fade & | 5
Discuss the relevance of Non Aligned Movement in the contemporary
world.

YR Ul & IMUTdhTe AfdTAl TR U fawer ford | 5
Write an essay on the emergency powers of Indian President.

YRR TSI | ST & gfier & fada=r o | 5

Discuss the role of Caste in Indian Politics.
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